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B.Sc. EXAMINATION:APRIL- pr g+ 1. 226 1g”
SEMESTER-II
PAPER NO.:M-202 ANALYTICAL GEOMETRY CODE NO:3114
TIME:2:30 HOURS TOTAL MARKS:70
INSTRUCTIONS {1)ALL QUESTIONS ARE COMPULSORY.
(2)EACH QUESTION CARRY EQUAL MARKS.

BE s By 2uxE2vy+2wzkd = 0 ol Ut Hw-d >0 A L e N Y R EN

1 m n
x% +y?+z° +3x—2y+4z—-5=0;5x+6z+1=0ud
x2+y?4 22 —4x—3y+5z—6=02x—y+7z= 0 aguriel Uik 2d ldsd wllsap Andl.
OR
RP i es xiay+zd = a? uadia, B, v) bigd 2udldes ailsg Radl.
X2 +y? 422 +2x+4y—2z2=3 x+y+2z=4 aqariall udR ud A 4x + 3z = 14adad
ausldl Mds wdlzapl Andl.
andd  Ix +my + nz=p Aas x+y+z" = a® Wi A wdl A2 Tl aual (bigeL am Al
andd kx+y—2z=9 Ndya’+yi+zd =9 A audl k< Dud And).
OR
doistl Ml canal 2l & Nl dudd dal uedl ard Hadl.
x? +y% 4 z2 =16 aMdd < Alg Wg (4,-2,3) e AHddy ALsRL Had).
aruzugla alsepl uusly eald” @ weel A2d Hodl
25 +3y7+57%= 1 ud 2xry—3z = Tasuidll Ul i 2o Goleig sidanon 254 AllspL Andl
OR
(1,2,2),{2,3,6),(3,4,12) oailad aa Gurlolgriall vz adl Yrualniel uuiR ddl UM AA el M
il gapl Hodl,
ax? + by =cz,ax + by +cz=d Azl uaniz Adl A Guralbly Raltigan sy wllsapl dadl.

R®ul x—_]°5 = 11%3 _ 2TV siia A s o2 = a? 3 adl s ulbemiell 2adl udlausll

n
A4isla ALy Rodl,
(4, -5, 3) (blenizll uALR 2l AMANSIReAL 2 x-alel AAnld2 AL {5, -2, 6) (bigidl vz aa d AHANLSRY,
yHlsapl Andl

OR
(2,3,-1) Tolgauiell umiiz 2l Avustedl e {(-3 .2 S+K/KERY &1 Al ananusiad allszpl Rad,
x—y47+3=0 , x> +y? + 22 +3x =3y +32=10 (Ealsd sl unAnsied adls2pL Andl,
aLsal® sl YRuL Beed 221

R Z;ll—o WA ot ol A —5yPr72°+13 = 0 uisanal udldl Al il 5250 AL -

4 20 2
AL audl [oigatl Andl,
OR
fpuseutfadass vl 53 ddl el gLl

allbid 53\ 3 AMdLTx+5y +3z= 30 A Guadas 7x+5y2+37% = 60 A sl B ud As wdllUg (2,2,2) 8.
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ENGLISH VERSION 2. )

Define intersection of sphere x*+y*+z%+2ux+2vy+2wz+d = 0 ; where u+v*+w’-d >0 and st.line
x—x_ y=f _ 27y
1 m  n
Obtain the equation of the sphere which is passing through the circles

x2+y2 422 +3x—~2y+4z—-5=0;5x+6z+1=0and
X2+ y2+2z°—4x—3y+5z-6=02x—y+7z2=0

OR
Equation of the tangent plane to a sphere x*+y*+z” = a?at the point (a, B, ).
Find the equation of the sphere passing through the circle
x2+y2+z22 +2x+4y—2z=3; x+y+ 2z =4 and touching the plane 4x + 3z = 14.
Obtain the condition that plane Ix + my + nz =p touches the sphere x*+y*+z" = a* and point of their contact
If the plane kx + y — 2z = 9 touches the sphere x2 + y? +z* = 9 find the value of k

OR
Define orthogonal sphere and obtain the condition that two sphere are orthogonal to each other.
Obtain the equation of the plane of contact of the point (4,-2,3) with respect to the sphere
x% +y? 422 =16
Obtain the condition that the locus represented by homogeneous equation represents a right circular cone.
Find the equation of cone having vertex at origin and passing through the curve 2x’+3y*+52°= 1 and
2xty—3z=1

OR
Find the equation of cone and its axis,passing through the st.lines having directions (1,2,2),(2,3,6),
and(3,4,12}. ‘
Find the equation of cone having vertex at origine and passing through the curves

ax?> + by’ =cz,ax+ by +cz=d
—x_y-p _z—y

Equation of enveloping cylinder generated by revolving st. line === 22 = 7Y and touching the sphere
q ping cy M g ] o " g p

Kyt = a?

If the axis of right circular cylinder passing through (4, -5, 3) is paralle! to x-axis and passing through
{5,-2,6) then find its equation

OR

If the axis of the right circular cylinder ,passing through the point (2,3,-1) is {(-3 ,2 ,5+k)/keR} then find
the equation of cylinder.
Obtaine the equation of right circular cylinder having guiding curve
Xx—y+z+3=0 ,x% +y2 + 22 +3x -3y +3z=0.

Discuss the intersection of conicoid and st.fine.

Find the equation of tangent planes to the conicoid Ax*—5y*+77°+13 = 0 which are perpendicular to st.line

X-3 y-5 z—10 . .
——=Z— = and their point of contact.
” > - point of contac

OR
Define the properties of hyperboloid two sheets.

Prove that the plane 7x+5y +3z= 30 touches the ellipsoid7x*+5y*+3z” = 60 and their point of contact is
{2,2,2)
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